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DEPARTMENTAL EXAMINATIONS

DEPARTMENTAL TEST FOR SUPERVISORS OF INDUSTRIAL
CO-OPERATIVE IN THE INDUSTRIES DEPARTMENT - BUSINESS
ADMINISTRATION INCLUDING COST ACCOUNTING

(Without Books)
Maximum Time : 1 hour Maximum Marks : 40

IMPORTANT INSTRUCTIONS

OBJECTIVE TYPE
Qsmem@D cuens elammgsmer

Read the following instructions carefully before beginning to answer the questions.
silaés@née el wellés Qam kg e SPssa_ SHeyamTEmeT SaUaToNs Ly dsallb.

NB: Words of masculine gender in these instructions shall, where the context so
require, be taken to include feminine gender.
Qs afleymssadler e urdanflar aurismssaiay, GoasCsiu Cameutiuiger Qe
Limedl eorifl atr QUTTSEMSS(@HLD <BL1EIELD.

This booklet should not be opened till the Invigilator gives a signal to open it. As
soon as the signal is received you should open the booklet and then proceed to
answer the questions.

@ps  elamsbsreulmar sarstafiuuraiar wawd QupeshE peran Spsssmins.
samsrenfiuunert elamsAsngudoar dniushEe @ivd afssedar damssmedmean
Soig e wellss Qgsmmiswmb.

1. This question booklet contains 40 number of objective type questions. Prior to attempting to
answer, the candidate is requested to check whether all questions are there and ensure that
there are no blank pages in the question booklet. In case, if any defect is noticed in the
question paper, it shall be reported to the Invigilator immediately, within first
10 _minutes after which no request will be entertained.

Qeicilammgsrer 40 Garargd euams damssmer QsreLg. Aamauusnyisdr el wellss
Gsm_migd e, edamgsrafler eroar slamssenb @b GuppEeTarar aarLmsw b, gCsab
flo ussnise / eflaTmésedT HFLUILLMDG elGHuLBéraTareur TS sMuMisss Qarereray.
dlammgsrefier gCsaud Gon @mudar clamssremers Qupn Ger uss PO EsEESEET @D
samareniiurerfliib Ggfelés Cean@n. <izn@ YUng Osfelssiu@n Csrismsser g
ghmé QasrerariiLLom’ L rg|. i

2. Answer all questions. All questions carry equal marks.

Smarsg dlamss@rs@h eloLwalss Cauar@n. simasg dlamés@n swwrer WALQALG@TESET
Qamer_enau.
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Candidate must write his Register Number in the space provided on the top right side of this
booklet alone. Do not write anything else on the Question Booklet.

Aaraiugryiler  udQeaucmoar @dacdamssraiar  Guod aweg usssfle  IisHOsar
paissru_Derer @Lsde aws Cauamd. sdamgsraile Caup TasULD TWSs sal 5.

The sheet before the last page of the question booklet shall be used for any rough work.

- Aamgsrefar seLd LsssSDEG per usssHd rough work ewsd uniss 2 LCUTESZE
GsmareTayLb.

(a) Each question comprises of four responses i.e. (A), (B), (C) and (D). Candidate shall select
only one correct response. In case, if the candidate feels that there are more than one
correct response, shade the response which he considers is the best.

(b) In any case, a candidate shall choose only one response for each question.

(¢) If more than one answer is shaded for a question, the answer will be treated as
wrong and no mark will be given for that question.

(d) The total marks will depend on the total number of correct responses marked in the
OMR answer sheet. (For this purpose, only one shaded circle for a question will be taken
into account for awarding mark) .

(a) @aQarm damalpgn (A), (B), (C), (D) eer Bmens e ger Qar@ésiiul{Herergl.
AanaiiLgmit eupdle gGsaib @n sfurar oaLows GCsia) Galw GesmGLb.
gamsE CGupur sfurer doLsdar g damadpe @GUUSTE smHare, <jeupmed
craicilenL 0sé sflwrers erar s@gddisGarr, scdadoLmwu Hpdli® sriL Caar@b.

(b) eaanheudab, e damalbe ¢Cr em dlaLmus srar CsibblsHés Caidmbib.

© em demddpe gemss Copurl alliseld o welssiuly@mbsrd oeeila
seuprarsns smsLu (), Sdeiameilhe WALELGT apRIEIULLOTLLTE).

(d) OMR &ewLg grafler GHlEsuLL silwrar eden_sener) Qurmss, QLrss wHUQueTsar
apmstu@n (e damelde @6 e@lisdo (GHuGrl) Blipdiie e wHCw
wALQUET ePhs saTESL ahS5s CardareriuGib).

Do not mark the answers in the Question Booklet.
Namggrafledr elen_seners GHILCGLE saL g

Candidate shall not remove or tear off any sheet from this question booklet. During the
examination he is not allowed to take the question booklet out of the examination hall. Only
after the examination is over, he shall be allowed to take the question booklet.

Aameriugny, elemssnaiar abs Q@ UsssmsLb, fssCaur ooz SPssGar saig. Caiey
peoQuoid Gurg), lamsstaar Gsia sLswselld GaaCu abss GCedw <ia@ws
AeLwirg). Csirey Wiyhs WeranCy clammssrener adsgs Cede igwSssLLG .

Failure to comply with any of the above instructions will render you liable to such action or
penalty as the Commission may decide.

Cupsan. <iflamrsaiie gCsaub Bpru@Cowurearmd Csiaurmarnub TOR&EGL ST ear /
BLalg&®&EHE 2 eterms CoMEID.

In case of doubt, English version is the final.
Aammssaien #pCss0mudarn smde ageild GsrTsstul Rerar dlamssGer @ndwurarg.
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Bankers are called as manufacturers of

(A) Loans WB) Money

(C) Deposits (D) Overdrafts
auifluT @as 2 hHusd Qelieur erard smambd

(A)  sLen , B) uvewd

(©) ey (D) Guéeuemy upm

Which one is the principle of Insurance?

(A) Cooperation (B) Mutual Interest
MC) Indemnity (D) Coordination

STUSL I 6T $SFleud W) ?

(A) sl (pey (B) wugevury @pireutd

©) rFlpnpd D) emrdmarssd

It 1s an audiovisual medium

(A) Radio \w”(B) Film

(C) Poster (D) Electronic Display
85 e @ gafl llenburs srgarnongb |

(A)  eunQermed - B) dengriuib

(C) saulymiyg (D) emelersg efembLigid

Which of the following is Consumer Oriented Act?

(A) Indian Companies Act (B) Partnership Act

(C) Indian Income Tax Act vwD) Hire Purchase Act
SpaumeuaTeudmieT 61yl BIsTCeut Qgrfurer &L soss Qaram g2

A)  @pdu fpeueriiser &L b (B) sl Lrawend &L ib

©) @ndwu eugporer eufl sLib (D) ar_es Qanerpsed s b

: The Institutional warehouse started with the support of the Government is
\AA) Food Corporation of India (B) Household Warehouse
(C) Private Warehouse (D) Co-operative Warehouse

SYTEThE 2 gellyyLar gHuBSSUIULL UaTLssTm Hnearkiseer
A) @pdu 2 amey G SRS (B) e&i(péemsar QU@L SET @euliLGD

(C) saluri uaTLs STULGD (D) sl Gney LaT ST

3 ' 045/DD/20
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6. Which one of the following is covered under Land Transport?
(A) Liners (B) Tankers
ﬁC) Pack animals : (D) Tramps
Epeumeuaralpmier gl Bl el CursEeursms Fibgl 2
A) eop efs sl (B) Qamigs st
(C) Quné efemigser ' D) e e fwunHm S
7. Import Trade Procedure starts with
wA) Trade enquiry (B) Placing indent
(C) Obtaining Quota (D) Arranging LC
AnsEws aamils paLpen GésiLdn Tbunring)
(A)  Qwruny eflgmyener (B) sr86@ Comaus GHGHsD
(C) efeneoriyeratl QLmzeD (D) s e sys gHunh QFuge

8. It helps disabled and elderly people

(A) E-Commerce (B) Instalment system
MC) Tele shopping (D) Multiple shop
G@DUTHETET, QUIOTSAITSET WHDID Gl wéieydrer pUTEEREE Qbs Cemal auailsd
2 g6|SIng|
(A) Oearey — euranilad (B) seuamanapanm ellpuener
(C) Qsrees@sriy el aaflsb (D) wLmEGssmL
9. The mercantilists gave utmost importance to
(A) Agriculture ' (B) Manufacturing Industry
10 Trade - (D) Imports
aimflsaurdsdr oifs asdugsied arhsss)
(A) Geuermarenio B) =2nhusds CAzmbe
(C) euaflad ; D) Lpéssws
10. Basic needs like food, clothing and shelter are needs.
“w*TA) Physical - (B) Social
(C) Psychological (D) Cultural

sgriumL Cemasanmar 2 ara 2@l QnUEL Csmasdr @gmans smibss)

(A) Qummer gnibss) (B) #epsd
(C) o emeflwe D) wueaTur®

045/DD/20 A 4
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12.

13.

14.

National income as commonly understood by everyone refers to

(A) GNP v{8) NNP

(© GDP (D) NDP

erévemyraud Yfhg Qamerarésnigw Bl () euHLISTD 6reTLg)
(A) Quorgs pri@ 2pusd (GNP) (B) flar pri@ 2 Hussd (NNP)
(C) Oworgs eempr B 2pusd (GDP) (D) Blar o atpm @ 2 Huss (NDP)

Planning in India is
(A) Centralised Planning WE») Democratic Planning
(C) Partial Planning (D) Indicative Planning

Gidwureiler L flpsd erarug)
A) evpws Hiid . (B) wsserm &

©) uEd enips AL (D) - #1486 srHid HLib

A nation’s real strength is reflected in the

(A) Agriculture . (B) Export

(C) Import WD) Industrial Development
@6 Brilyer auallento @aer epeoid NrHuelsdps

(A) CGeuermammrento aueTiEs) B) ghmwd

©) EnsEwd D) Gzmfe eueriss)

The primary functions of the commercial Banks
(A) Making loans and advances
(B)  Discounting bills of exchange

YWwC) Accepting deposits

(D) Participating in the inter-bank borrowing

aafls eundlsaflar s wadwiorer L
(A)  sLabd gpeTuamTpLd GUQFEJ@@J@_{
B) e a@mqudsmer wsHey QgD
€)  eaiys Agrevsaw Qumes |
D) amdsafleCu sLer QumsD

5 045/DD/20
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15. The main inconvenience of batter system was

(A) Transactions were many and complex
VW (B) Lack of double coincidence of wants

(C) The intermediate commodity need not ‘be familiar
(D) Prevalence of domestic system
ueL wrHn wepuile 2 arer WsHw GLiurp
(A)  ufLIHD WODWTETS TETEIHHMEILTSE|D &Hlq @IOTATSTED B)([HSS®
B) Oouwss Csmea Qurrpsslaeno
(C) @eruurL uam b aolormbd PibHBss Calamau Saufublama

(D) oL@ 2pusd e peoLpEDUD BHES5D

16. The most preferred diagram to represent the components of a variable is

(A) Line diagram (B) Bar diagram
VW’ (C) Pie diagram ~ (D) Pictogram
e wrduler udCeaum ammiseer dflarss LwWETLHID LLLD
A) Gar@ Guaf)jUL_Lb (B) ul e efarésriviLLb
(C) eulL efletdsliuid (D) o meu elerdsiLL D
17. Capital helps in level of productivity.
MA) Increase (B) Maintain
(C) Do not alter (D) Decrease
p@SED eraTUgl 2 Hussluder Blanaoulienar iefsslanms).
A) 2wiks (B) Aoouu@ss
€) wrppbd Gdaers D) - eopbs
18. Insurance companies are investors for social welfare schemes.
(A) Service (B) Organisational
WwC) Institutional : (D) Trade
sriumd  Hoeeammsds  sops  pasHitmsemer  QswOUBSSHHD
(PSESL_L_TETITEHET.
(A) Goeeu cuens (B) e=enwiiy euans
(C) Pmeuer auans - D) amls uwms

045/DD/20 6



19. is the process of dividing and grouping of activities and employees of an

organisation. .
WX) Delegation (B) Departmentation
(C) Decentralisation (D) Decision making

@@ Hneagdad Gewouraamer Afsgb @peuns Hmwigib Gswudu@eus
A) =dsmy ugeud ' B) YNeursse

(C) ureuerss (D) Sireurssed

20. What is the percentage of Maximum Bonus Payable?

A) 22% ' B) 25%
C) 18% | v’ D) 20%
iflsul s Was saflu Qgrans assamar s5eldsLb 2
(Aa) 22% B) 25%
(C) 18% D) 20%
21.  Motivation is essentially a concepts.
(A) Physical (B) -Financial
W  Psychological (D) Social
DET &SI é{@:ﬂggd) TeTUZ @(H (psHwinrer _ srrenflum@Lo.
A)  Qummer gmibs | (B) uewd Friphs
(©€) o arallwe ‘ (D) &epsid
22, If the employee loses his job as of is known as retrenchment.
(A) Superannuation (B) Voluntary retirement
(C) Continuous ill health V(D) Any other reason of the employer
@@ dsmioral sears Ceuameulenar gryenons @Qpsrd Qe (& Assarnd
GTEATEDITLD.
(A)  eauwg wdilerme B) &w el Rua]
(C) Qs sseiand D) @sareilar Qewdsarmed
7 045/DD/20
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23.  The number of persons required for forming a Trade Union is
(A) 6 - (B) 5
VO 7 ®) 8
@@ Qasmfipensd Qgrirkis Cameuwnear puisetlen erereanflsEems

A 6 B) 5
© 7 D) 8

24. The decision to mechanise Office Operations should be determined by

consideration. _
(A) Material ' (B) Manual
V0  Cost (D) Result-oriented
Sigaes Qesudur@smar @Qubdrownrs@n waejer Hianudss uwffdssuu
Gouair(RLd _
A) - Qumgger (B) esCul -
(C) Qeaey (D) apyeysmer QUTNISSS
25. are congenial to efficient \%vorking.
(A) Efforts (B) Resources
W) Environment (D) Equipments
Spevwwrer Coumass . Bgalb @earHluemunssmELd.
A) upd (B) euerruser
(C) &pmUYD GLped (D) srzamsedr
26. The general purpose of a form is to make operations easy.
Ww4) Clerical (B) Logical
(C) Analytical (D) Standardisation
ueaiisaier Qurg GCrrésd Qewdseamer ereflETs@Gaug @GD-
A)  esgL uenfl B) erefwe Lenf
©) e uewd - (D) srou@sse
217. : should be avoided when taking decisions.
(A) Statutory requirements (B) Relevant facts
(C) Changing Political Scenario w)) Guess work and intention
WP a| aHE@n Gumpg) sallitssuL. Ceuat(@iIb.
Q) slrgeps Caameusar (B) QsriyenLw sseu0&EET

(C) wruEL TS @Ghblane (D) wésse wHmb 2 emEhemiel

045/DD/20 8



28. E-Commerce means doing online.

(A) Marketing , (B) Advertising

(C) Shopping MD) Business
leranam) auanflaallwcd eremmmad Hlapblaeuden Qewvieug).
Q) spazlims (B) eSlembungid

(C) QumpLsaer cummkiEeug) (D) Awurumryd

29.  Office cost reduction and cost savings are generated with the help of

(A) Office Manuals VwB) Work Simplification Techniques

(C) Personal Management. (D) Flow of Work

SQais Gswe] @Gopssibd, Cewmeaus Crllsseid e 2 geaflwmed
B _Gumdng).

A) awss esGup (B) Couame ereflgné@id memissmiser

(C) uellwrer GuereTenio D) CeaueneGuim i ib

30. Traditional economy is a

MA) Subsistence economy - (B) Market economy
(C) Command economy (D) Monetary economy

vl QuUmHETTSTTD eTeTLg)
(A) seraflenpeyls Qum@parTsmyLd (B) epensl Qum@ermgmyd
(C) slLeerty Qum@peTTSTID (D) uenfleflwed QumrwerTgTrLd

31. Utilityisa
(A)  Social concepts \(B) Subjective / psychological concept
(C) Political concept (D) Scientific concept

LesTUm(®) eremuig)
A)  Fps ss3 (B) GQummer wHmID 2 aTellwed &(Hss
C) @idler smss D) efleiue sErssl

9 045/DD/20
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32. In economy in the long period
WA) All factors change
(B) Only variable factors changes
(C) Only fixed factor changes

(D) Variable and fixed factors remain constant

Qummpermgrysdar gwrlaauie Bam srogsilcd
(A) T SMaRi&(@EHD LommiD |

B) wryb sryafsERb W ELW WIHILD

(C) wrpr sryenflaer W EIWD WTMID

D) wryw wHmb wrpr sryeafladr Hlewrs &) masD

33. Labour cannot be separated from

(A) Capital \Ww”B) Labourer

(C) Profit (D) Organisation

2 enlplientl B mhg WN&s WigWTsl.

A) pogand | Wse (B) =epuumeriLibd
(C) @emub (D) =2husd sewiiy

34. Economic cost includes explicit cost and
MA) Implicit cost : (B) Social cost
(C) Fixed cost (D) Money cost

uewE Qeoeler o dratgsrarg QeueiGumés Csway wHmD
(&) edrarmips GFwey (B) soapss G]&euéu

(C) wmpré Ceeway ' (D) vews Qeaway

045/DD/20 10



35. Under perfect competition, the demand curve is
(A) Upward sloping \tB) Horizontal
(C) Downward sloping ' (D) Vertical
‘[F;]Gmg)@;[u Curiiguie CsamausGar® Geusurm @)(HEEW
Q) CuwaCpradl efhg Cedaib (B) &lenLiolL1ons @) (HEE0D
(C) &pCrrsdl sfpg Gadeyd (D) Qerugssrs @) msED
36. The classical theory assumed the existence of
(A) Unemployment (B) Disguised unemployment
\1C) ~ Full employment (D) Under employment
Qgmrerenwors Qumpefiwed Camum( floejeusns smaSng).
A) Ceaumauldoer Hlanw B) wenuws Causmaulsarano
©) o Cauma Hlena D) ©on Caumaulerann
37. Bank rate is raised during

(A) Deflation Ww*TB) Inflation

(C) Stable prices (D) Unemployment

auridl eilflgbd eriCurg 2 wtssLLRE DS
(A)  wewr euml_Lib (B) uewr aS&s1D

(C) dleva Hlevowrs Q) @msse (D) Ceauameullemenio

11 045/DD/20
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38. A situation marked by rising prices and stagnation in demand is known as

(A) Cost — push inflation (B)
vw”{C) Stagflation D)

cllenaaer 2 wi(HD (Eurrgu o _GITET @@;ﬂm@um,

Qupieg)

(A) Qewey - 2pbg ueTaissD (B)

(C) Haasserain Liameissd (D)

39. Tax Revenue deals with the

(A) Fees \"18)

(C) Revenue D)

euifl qu(HeuUmL .
(A) sl Larnd | ®)
(C) eumeumi D)

40. A multination company is also known as

Demand — pull inflation

Wage — push inflation

womb Csmeaus Csssupd empsEst

Caemau ity Liemaiésid

el 2 bg) LeRTeI&EHD

Kinds of Taxes

Non tax revenue

auflgeflen euansser

auflwdp eugpeumil

V1)  Global giant (B) Partnership
(C) Cooperative Society (D) Public Corporation
e uererm_ (B Hlmiwob GTRT SPSHUILIHSDG.
(A) o @s yerefled Guiflwg) - (B) e Lnawmenio
(C) &L (pey FhsmhIGET D) Qumgs sl G

>
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IMPORTANT INSTRUCTIONS

DESCRIPTIVE TYPE
ellfleurer eflen_weaf&@b cuens aflarmssmer

Read the following instructions carefully before beginning to answer the questions.
emssEnéE e weallds QammiGh (e Spssam_ He|mrEmer GeUETONS Lily &&aLb.

Answers in excess of the prescribed number of question's appearing at the end of the answer
book will not be valued.

ddeLsmer @HUYGLQerar aramarismasd fswrs awdulmuler, e sgrafar @mndHulad

o atar 2iSls eranenflsamasuleorar aflenLger WHUTH GFUwOILLTE.

In case of doubt, English version is the final. ‘
alammésatle) spGsslmdear oy ndle-augeid Qar@ssuul Gearer eflamssCer @mniHwimears.

Answer any of the EIGHT questions : ‘ (8 x3=24)
Eeumeuareaunmier gGsand o1 () cllamss@nsE el weafl :

How is an office important to its shareholders?

R ALICUQSID ETEUGITN LIBIGSTTISEhsE péiwwrarsns elearhi@dng ?

What are the important features of memoranda?

@ GHlLureanuier (P& bFRSET Wramel ?

What is meant by calls in advance?

<|LPLIL (PETUGRTLD GTETDITed aranar?

What is révaluation account?

LOHILHISGH HerdE TETDTED ETeTaT?
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5: What are the aims of cooperative societies?

gal_(Hme| sFrssHear Crréssmser wWrg) ?

6. How is communication helpful in trade activities?

elwrmunry peLpen Uails@rsE saeie Qsmimy aeeurm 2 56 fng) ?

7. What are the classification of goods?

LIGRTL_RBISET6T eUeNSSHET WTene ?

8. What are the conditions for price discrimination?

cleve Cugsden HlubsmanaeT WTen6 ?

9. What is an invoice?

@)L eTemnmed eresme ?
10. What do you mean by human capital?

LS APOSEATD GTEITDITED GTETET ?

L Answer any THREE of the following : (3 x 5= 15)
Speumeuareupmier gGsabd aparn elarmésEnéE ellenLwellssa)b

1. Briefly explain the classification of markets.

DBISTIQUIGT CUMEHEMET F(HESSLNG 6llaTsEEa L.

s What are the methods by which a job can be evaluated?
@@ ueaflepw LAUISH CEFiud LI WP®PSET WTene ?

3. Give the primary functions of a Commercial Bank.

auanfles eurdlufler (pgeren Laflsmer elleufss.

4. What are the various types of subsidiary books?

glenemt FHESENGT CUMSSHET WTanal ?

5. From the following details, find out credit sales for the-year

Ope-ning Balance of Sundry Debtors Rs. 30,000
Cash received during the year - Rs. 2,05,000
Closing balance of Sundry Debtor_s Rs. 48,000
Discount allowed Rs. 13,000
Goods returned by customers Rs. 14,000

045/DD/20 2



Spsan_ dugnsmens Qaran( sLer elpumaraus samés[Hs.

upue sLearmeflgaer — QT8 G HLiY eh. 30,000
Qrrésd CGubHmE @h. 2,05,000
upLe sLearmailsdr — @md @@Ly &5. 48,000
Saflss Sem@EnLly ¢h. 13,000
aumgsenaswrart Heudu s16E eh. 14,000
III. Answer any THREE of the following : (B x7=21)

Speumauareupmier gGsayb aperm edlamss@réE e wallssa
1. List out the characteristics of Monopoly market.
eppmiflenoufer uamysmar L igwied(s.

2 Bring out the characteristics of Capital.

epesarsden Aptndwudsemer samis.

3. Explain the various kinds of advertising.

- derburuBSsiseder 2 e eumssamar afleuil.

4. Bring out the advantages of segmenting the market.

FHens UaESELILHSSOIET BETEOSHET WTen6 ?

5. Explain the components of marketing mix.

sHhans sl aatudd o drer srrarflaamer aSlaufl.
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